PH 113 worksheet April 22, 2008  Name ________________________________________



n/s + n’/s’ = (n’-n)/R
            Box____________

|R| = 5.0 m



n = 1.33 (water)
air (1.0)
person is 2.0 m from v

        v

fish
(1.5 m from v)
n/s + n/’/s’ = (n’-n)/R
How far from the vertex v does the fish 

Appear to the person?

How far from the vertex v does the person 

Appear to the fish?

Now let the water and the fish be on the left,

And the person be on the right. The fish is

Still 1.5 m from the vertex, and the person is

2.0 m from the vertex v. Where does the fish appear

To the person from the vertex?

The spherical surface is still concave to the right.
It stays as shown above.

Lenses
Solve the algebra and draw a ray diagram  to find the image
|f| = 20 cm  in all 3







1/s + 1/s’ = 1/f

S = 8 cm

S’ = ?





S = 40 cm  s’ = ?





S = 32 cm  s’ = ?





